NAME DATE

Chapter 5 Test, Form 1

Write the letter for the correct answer in the blank at the right of each question .

For Questions 1-7, solve each inequality.

1.

X-7>3

A{x|x>10} B {x|x>-4} C{x|x<10} D {x|x<-4}
3>t+1

F{t|t<4} G{t|t>2} H{t|t<2} J{t|t>4}
1>

Afyly =-3}  Bllyz-4  Clyly=4 D{yly=3}
.5m < -25

F{m|m< 125} G{m|m<-125} H{m|m>-5} J{m|m<-5}
.—36<3t

A{t|t>-12} B{t|t<12} C{t|t>12} D{t|t<-12}
.6y —8>4y+26

F{yly>-9} G{yly>-17} H{yly>?9} J{yly>17}
.3(2d-1)>4(2d-3)-3

A{d|d> 9} B{d|d<-6} c{d|d>3} D {d|d<6}

. Six is at least four more than a number. Which inequality represents this sentence?

F6<n+4 G6>n+4 H4<n+6 J4>n+6

9. More than eighteen students in an algebra class pass the first test. This is about three-
fifths of the class. How many students are in the class?
A less than 30 B less than 25 C more than 30 D25
10. Phillip has between two hundred and three hundred baseball cards. Which inequality
represents this situation?
F 200 < p <300 H p <300 or p <200
G 200 >p>300 Jp<200andp>300
11. Which of the following is the graph of the solution set of m > -1 and m < 1?
A g ——— C <ttt
-4-3-2-1 01234 ~4-3-2-1 01 23 4
B T+ T O+ D e @u———
~4-3-2-1 01 23 4 —4-3-2-10123 4
12. Which compound inequality has the = g ————@u——
solution set shown in the graph? —4-3-2-1 01234
Fx<-lorx>3 Hx>-1lorx>3
Gx>-lorx<3 Jx<-lorx>3
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SCORE
1. A
2, H
3, B
4, J
5. A
6. J
7. D
8. G
9. C
10. F
11. C
12. J
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Chapter 5 Test, Form 1 (continued)

13.

14.

15.

16.

17.

18.

19.

20.

Which of the following is the solution setof 2a+1>9ora<-1?

A{ala<-lora>4} C{a|-1<a<4}
B{ala<-lora>4} D{ala<-1lora>5}
Which inequality corresponds to the graph shown? L B e e
-3-2-101 2 3 45
F o|x —3]<1 Hlx — 3]>1
G |x —1|<3 Jlx —1]>3
Solve |x — 3| < 2.
A{x|1<x<5} C{x|-1<x<1}
B{x|-5<x<-1} D{x|-1<x<5}
L || ¥
Which inequality has the solution set shown in the graph? |
Fy<1 Hy>1 — -
Gy<1 Jy>1 LI llol [ ]]1[x
S y
Which inequality has the solution set shown in the graph? %
Ay<-—x+2 Cy<—x+1 SERER
By>-x+2 Dy>x+1 o N [x
Determine which ordered pair is a part of the AL
solution set for the inequality graphed at the right. 7 T
F2 1) H (-3, -3) o 3
G (1, 3) J(-2,-3)
¥ \

Which inequality has a solution set of {x| x > 3 or x < -3}?

Al2x|>6 C |2x|>6
B|2x| <6 D [2x| <6

Juan’s income y consists of at least $37,500 salary plus 5% commission on all of his
sales x. Which inequality represents Juan’s income in one year?

Fy < 37,500 + 5x H y > 37,500 + 0.05x
Gy > x + 0.05(37,500) Jy>37,500+5

Bonus If x <0, which integer does not satisfy the inequality x + 2 < 1?
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13. A
14. G
15. A
16. J

17. B
18. G
19. A
20. H
B: L
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